i
I
iy
Tl
P=ai
i

1. ¥4
4 RS S N = S P (o
BT AT BRI B EHATE N

2. EHEAR

1) FHF4 GIRwWBiFEE A & R
2) JBATHIM 365 H H &% 74 45 1H

E 4HFn 8% 3H31H

3) PN

4) EBNE

- Etzz@y  AbkEt 5w R



A | BN T RS BRSBTS R R B W 3
H H X A ERRCESS
THH - TR - R H AL % & 4 %A O ER
YR (HnE 2 X 1 7,002, 135
BT A ERCE S oy 1 7,002, 135
Bl FH A = 1 346, 000 | FMFEAE
2 [A]
e X = 1 1,771,800 | XMEVERK « KEEIE
10 #
KmER « MEEIE
10 b'e
mER « HEEIE
10 #
KmfER - MEEIE
10 1
fEwriE = 1 715,850 | XM VER « K& E
5 #
K fERK - & IE
5 B
K fERk « & IE
5 B
K fERk « & IE
5 #
TR T X X 1 326,530 | XIMEIERK « K EE
5 B
K fERk « & IE
5 B
K fERk « & IE
5 B
K fERk « & IE
5 1
/INEEER T X O S — XX 2V 1 627,385 | XIWEERL « X EE
5 1

- Etzz@y  AbkEt 5w R



i
I
iy
Tl
P=ai
i

WA | RN T AR R DR S T I T A VR R S R ER e 25
H H X SRR
THH - T - fE5 H 1 ¥ & 4 #H OB ER
K fERK « & IE
5 B
B R « B &=
5 78
B R - B & E
5 58
& X Y 1 1,038,050 | XimfERk - KiaHELE
5 78
B R - B &
5 78
B R - B & E
5 78
B R « B &
5 58
B oy 1 1,927,600 | EHEX
5 78
fEmT A
5 B
T 1A 1
5 B
IIVEIE YRR R O
5 B
SRR
5 B
ap— X 1 78,020 | &5 —AOKR
10 B
75 —ALRR
10 B
7T —A2hK
10 K
/7 2 AORR
10 e

9 - Etzz@y  AbkEt 5w R



=
=

it
T
iy
%lljll

A | BN T RS BRSBTS R R B W 3
H H X A ERRCESS
THH - TR - R H AL % & 4 %A OB R
T/ 7 aAlhil
10 B
£/ 7 a A2k
10 e
CADF— 4 Hi ) = 1 87,480 | 51 7 —AOAK
10 b'e
H T —ALhR
10 75
H T —A2hK
10 75
£/ 7 1 AORR
10 b'e
E 7 uAlfR
10 75
/7 a A2k
10 e
AX =2 = 1 83,420 | & T —AOfik
10 B
75 —ALRR
10 B
7T —A2hK
10 B
T/ 7 aAORR
10 B
T/ 7 aAlhil
10 B
T 7 aA2hi
10 e
Jhim X 1 169, 350
RIS = 1 169, 350

3= Etzz@y  AbkEt 5w R



Mgk | BN T AR IR OB SR T X i S R R ER BB
H H Him
TEHA - LfE - R =AY VA * & A Mo N AR
e =X 169, 350 | FTAB%
1 Y
[R5 = 148,726
RS T¢ = 148,726
i AL = 37,726 | k¥ (FFE - 15iA8)
1 =
%%Eﬁ%u%{?ﬁi% ft 111, 000 %%E}Z%Dﬁ%ﬁzﬁi%
1 =
(X3 Re = 7,320, 211
MBI = 4,999, 789
R = 4,999, 789
ilf=er i = 12, 320, 000

=R oS KN o723 S



